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QUESTION 1

Which of the following statements regarding GTP-C is FALSE?
A. GTP-C is a tunneling protocol.

B. GTP-C runs over UDP/IP.

C. GTP-C is the control plane part of GTP.

D. GTP-C messages carry Attribute Value Pairs (AVPs).
Correct Answer: C

Reference: https://en.wikipedia.org/wiki/lGPRS_Tunnelling_Protocol#GTP-C_-_ GTP_control

QUESTION 2

Which of the following statements regarding handover is FALSE?

A. Handover can occur when UE is in ECM-CONNECTED state

B. S1-based handover is used when X2-based handover attempt failed

C. During X2-based handover, MME may remain the same or be relocated

D. S1-based handover is used when there is no X2 interface between source and target eNodeBs

Correct Answer: C

QUESTION 3

Which of the following is a Diameter interface connected to the MME?
A. S1-MME

B. S11

C. Gx

D. SLg

Correct Answer: B

QUESTION 4
Which of the following regarding an EPS dedicated bearer is FALSE?

A. It can be a GBR bearer.

4A0-M03 Practice Test | 4A0-M03 Exam Questions | 4A0-M03 Braindumps

2/4


https://www.pass4itsure.com/4a0-m03.html
https://www.pass4itsure.com/4a0-m03.html
https://www.pass4itsure.com/4a0-m03.html

VCE & PDF https://www.pass4itsure.com/4a0-m03.html
a 2024 Latest passditsure 4A0-M03 PDF and VCE dumps Download
== / PassditSure.com

B. It can be a non-GBR bearer.

C. MME obtains the dedicated bearer QoS parameters from HSS.
D. MME sends the dedicated bearer QoS parameters to eNodeB.
Correct Answer: D

Reference: https://www.sciencedirect.com/topics/computer-science/dedicated-bearer

QUESTION 5

Which of the following regarding PM is FALSE?

A. PM counters contain system health information on a specific VM.
B. PM counters are stored in XML format.

C. PM counters are collected on a per-interval basis.

D. A PM job is defined to collect PM counters.

Correct Answer: D

QUESTION 6

Which of the following statements regarding an EPS dedicated bearer is FALSE?

A. A dedicated bearer is any EPS bearer to a PDN that is already connected to the UE.

B. A dedicated bearer can be either a GBR or non-GBR bearer.

C. A dedicated bearer remains active as long as the UE is attached to EPS.

D. A dedicated bearer uses the same IP address that was allocated for the associated default bearer.
Correct Answer: B

Reference: https://www.mpirical.com/glossary/gbr-guaranteed-bit-rate

QUESTION 7

Which of the following MME interfaces uses a protocol OTHER than GTP-C or Diameter?
A. S1-MME

B. S11

C. S6a

D. SLg
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Correct Answer: A

Reference: https://www.cablefree.net/wirelesstechnology/4glte/lte-interfaces/

QUESTION 8

Which of the following is NOT performed by the MME during service request procedure?
A. MME sends paging messages to a list of eNodeBs.

B. MME updates the SGW with current eNodeB information.

C. MME re-establishes S11 bearers for the UE.

D. MME requests eNodeB to establish radio and S1 bearers for the UE.

Correct Answer: C

QUESTION 9

Which of the following statements regarding a tracking area list (TA list) is TRUE?
A. The location of an idle UE is known by the network at an eNodeB granularity.
B. The location of an active UE is known by the network at a TA list granularity.
C. All the tracking areas in a TA list are served by the same MME.

D. A tracking area list is a logical set of MMEs.

Correct Answer: B

QUESTION 10

Which of the following statements regarding SGW selection by the MME is FALSE?

A. SGW selection can occur during initial attach, tracking area update, or handover procedures

B. MME can select an SGW by performing a DNS query on a given TAl FQDN

C. MME can select an SGW based on the overload control information received from each SGW in the SGW pool
D. MME can select an SGW from the SGW pool(s) configured to serve the given TAl

Correct Answer: C
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